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11.

12.

The National Sports Day is observed every year across India on which of the following
date ?
(@) 20" March (b) 11% April (c) 25" May (d) 29" August

Dholavira, the southern centre of Harappan civilization, received the UNESCO World
heritage site tag recently, is situated in which state of India ?
(a) Punjab (b) Gujarat (c) Madhya Pradesh (d) Jharkhand

Name the first Union Territory to become 100% organic as all farming is carried out
without the use of synthetic fertilizer and pesticides.

(a) Ladakh (b) Chandigarh (c) Damanand Diu (d) Lakshdweep
Who was the first President of All India Trade Union Congress (AITUC) ?

(a) Deewan Chaman Lal (b) Lala Lajpat Rai

(c) Jawaharlal Nehru (d) C.R.Das

Who is the author of the book ‘Overdraft : Saving the Indian Saver’ ?
(a) Kaushik Basu (b) Raghuram Rajan (c) Geeta Sainath  (d) Urjit Patel

Which SEZ city became the first ‘Green SEZ’ in India ?
(a) Khanna (b) Kandla (c) Jamnagar (d) Greater Noida

How many Bronze medal did India win in Tokyo Olympics ?

(@) Two (b) Three (c) Four (d) One
Name the film which won the ‘Palme d’Or’ in the Cannes Film Festival recently.
(a) Titane (b) No Man’s Land

(c) Gone with the wind (d) Saving Private Ryan

Mahsu, Dangli and Jhali popular folk dances are associated with which state of India ?
(a) Jharkhand (b)  Sikkim
(c) Himachal Pradesh (d) Assam

In which event Neeraj Chopra won India’s only Gold Medal in Tokyo Olympics ?
(a) Javelin throw (b) Shot put (c) Boxing (d) 400 M. Race

Which of the following States sponsored India’s Men’s Hockey Team and Women’s
Hockey Team ?
(a) Haryana (b) Odisha (c) Punjab (d) Maharashtra

Which day was observed in India in the year 2021 as the ‘Partition Horrors Remembrance
Day’ ?

(a) August 16,2021 (b) August 13,2021

(c) August 17,2021 (d) August 14, 2021
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1. i ° frafefaa 4 @ fem fafy 1 uf o whie @« feeg e sman @ 7
(a) 20T (b) 1131 (c) 2578 (d) 29 3T

2. ICITENT, BT HRAAT I ST <hg, T8 BT @ | et fava forrea dge & e 33T B,
W o fope a1 R 2 7
(a) OSTE (b) TSI (c) weAHeH (d) wmEe

3. 39 Hguyd Y BT A §q¥ Sl G Givd AW §9 T 8 AR &l @l § fGufes
FicATER 3R TEET3SH 1 TI TE B T R |
(a) wE™ (b) “EiTe () TWwEdd  (d) @M

4.  IRad WRAW € YA B (TIHEEET) & T A7 HH & ?
(a) N TEATA (b) TN ANTIITT (¢) Sded 488 (d)  HIL3R. g™

5. ‘TR : Afer ¢ e Qv S A@h HH @ ?
(a) HINHTY (b)) TIUH TS (c) i ETETY d) 3auea

6. YA U %H d &9 (SEZ) Tt ugett it 81 (SEZ) s+ ® 7

(a) @ (b) AT (c) SHTR (d) T TS
7. RN A § MR 3 fehde e Uesh Sfid ?

@ o (b) = (c) =R d) TH
8. 3U fthew o1 9M wa e ™ fthed Scoa H 8Tt & | “UTeq S 3770 ST |

(a) <A (b) MEATS

(c) T foeefie (d) &g umzae fam
9. TEY, CFTCl IR SATEH ¥ JTHG Al T WA o Toh8 U9 & TelUd & 7

(a) TNEE (b) Tafern (c) Temmaer wew (d) 3@d
10. RS =9eT 3 e AT T fohd o T WA ol TshHTS EU1 Uceh SAIdT 7

(a) S (b) MY (c) WifedT (d) 400 . =
11. F=faRaa o @ fopm Usa 3 vRa i gy gieht 49 ud afgan gfeht W i g fopam 2

(a) @i (b) e (c) USS (d) wERg
12. WRa ¥ ¥ 2021 % fope feq i favrem fafifver wgfa foa o &9 o w=mn w2

(a) 16 31T, 2021 (b) 13 3T, 2021

(c) 17 31T, 2021 (d) 14 31T&, 2021
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13.  Which of the following committee is not associated with the Panchayati Raj System ?
(a) Ashok Mehta Committee (b) Santhanam Committee
(c) V.K.R.V.Rao Committee (d) Balwant Rai Mehta Committee

14. Which of the following is the oldest atomic power station in India ?
(a) Kota (b) Tarapur (c) Narora (d) Kalpakkam

15. Who is re-appointed as the Governor of RBI ?
(a)  Ashok Bhushan (b)  Urjit Patel
(c) Shaktikant Das (d) None of these

16. Where did Gautam Buddha deliver his first Sermon ?
(a) Sarnath (b) Bodh Gaya (c) Kushinagar (d) Rajgrih

17.  Which rock inscription gives an account of the achievements of Kalinga King Kharvela ?
(a) Karle (b) Hathigumpha (c¢) Junagarh (d) Nasik

18. Who was the author of ‘Kathasaritsagar’ ?
(a) Somdeva (b) Kalhana (c) Rajshekhar (d) Bilhana

19. Which of the following books was not written by Amir Khusrau ?
(a) Nuh Sipihr (b) Deval Rani-Khizr Khan
(c) Taj-ul-Masir (d) Khazain-ul-Futuh

20. Where is Akbar’s Mausoleum situated ?
(a) Agra (b) Sikandara (c) Lahore (d) Delhi

21. The commander of East India Company’s army in the Battle of Buxar was :
(a) Robert Clive (b) Admiral Watson (¢) Sir Eyre Coote (d) Hector Munro

22.  Who is the author of ‘Das Kapital® ?
(@) J.J.Rousseau (b) Adam Smith (c) Karl Marx (d) J.S.Mill

23. Buland Darwaza was got built by :
(a) Akbar (b) Shahjahan (¢)  Quli Qutub Shah (d) Ibrahim Sharqi

24. Which of the following pairs is not correctly matched ?
(a) Lenin — Communism (b) Hitler — Nazism
(c) Mussolini — Fascism (d)  Churchill — Utilitarianism

25. Where is Gol Gumbaz situated ?
(a) Hyderabad (b) Lucknow (c) Patna (d) Bijapur
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13. fTfaRea o @+ o il T=md 09 e 3 ek T8 8 ?

(a) 3T HEdT AUk (b) EH Hiafa
(c) ... vaatfa (d) oTed TF Hgdn gfufa
14, T=fofga # @ vyra @ ge@ U sy i LI B AT R 7
(a) T (b) ARG (c) T (d) HeIwhY

15. Tohee IR To1a ofh o Mok o &9 1 44 Tgea forn man g 7
(a) FFEH T (b) 3R e (c) Nfdehide®  (d) 0 4 IS T

16. TIaH g - ST TgeT 3uew ford ToH e ¢

(a) WY (b) G (c) FIMTR (d) TR
17. <hicAT & % WRAA 6l IqAfeul b1 ferawur fora Rieei@ @ faean 2 ¢

(a) A (b)  ETfigEsT (c) e (d) s
18. ‘HAHNHTT T ek i AT 7

(a) ®wed (b) hegul (c) TRRER (d) foego

19. T=faRad o @+ ot e il ga & g 7@ fore 78 off 7
() T|RUR (b)) TEATH-REF@i(c) TI-SA-HRR (d) TIEA-3A-FE

20. 3ThSI{ 1 Heha[ shal L fRd g ?

(a) ST (b) Taw=u (c) &R (d) feoett

21. SR H gg § $% SfeaAT Shrt Y BT BT BT o -
(a) UaedMsd  (b) TSHRAART  (c) T IR HKS (d) TFRIGH

22. T hiUeet % oG HH @ ?
(a IAA.®H  (b) TeH Y (c) ohTct AT (d) J.um. e

23. ol cuaTal o o fehae shtamm o 2

(a) 3Th (b) SIESTET (c) PAFITIE  (d) ISITEH ehi
24, Tafafed & 9 ®F @ | gufaa 98 8 ?

(a) ofH - AT=ETe (b) feer - Al

(c) HEeH - wrefare d) =i - IrnfiamET
25. TIeT e hal fRIA R 7

(a) BUETg (b) TS (c) e (d) SR
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26. Thomas Munro is known for his work in which field ?
(a) Land settlement (b) Industry
(c) Irrigation (d) Health

27. Arrange the following events of Indian freedom struggle in chronological order :
(1)  Cripps Mission
(i1)) Cabinet Mission
(i11) Wavell Plan
(iv) Formation of Interim Government

@ (0, G, (iv). (i) (®) (0 (i) G, (v
(¢) (i), (i1), (iv), (i) (d) (), (iin), (i1), (iv)
28. The fall of Bastille is associated with which Country’s Revolution ?
(a) France (b) Russia (c) Italy (d) Germany
29. In which year did the ‘Bloodless Revolution’ or ‘Glorious Revolution’ take place in
England ?
(a) 1656 (b) 1678 (c) 1688 (d) 1698
30. Who, among the following, did not contribute to the unification of Italy ?
(a) Matternich  (b) Garibaldi (c) Mazzini (d) Cavour
31. With which country is the Romanov dynasty associated ?
(a) France (b) Germany (c) Russia (d) TItaly
32. After the First World War, at which place was the Peace Conference held ?
(a) London (b) Paris (c) Vienna (d) Washington
33. In which year did the Battle of Waterloo take place ?
(a) 1804 (b) 1807 (c) 1813 (d) 1815
34. Nadir Shah invaded India in the year
(a) 1398 (b) 1756 (c) 1739 (d) 1761
35.  Who, among the following, is known as ‘Sakalottarapathnath’ ?
(a) Ashoka (b) Harshavardhan
(c) Chandragupta Maurya (d) Samudragupta

36. To which dynasty did Gautamiputra Satakarni belong ?
(a) Satvahan (b) Chola (c) Parmar (d) Gurjar Pratihar

37. Which of the following pairs is wrongly matched ?
(a) Prayag Prashasti — Harishen (b) Junagarh inscription — Rudradaman
(c) Bhitari Inscription — Pulkeshin II (d) Dhauli Inscription — Ashoka

38. After killing whom Pushyamitra Sunga founded the Sunga dynasty ?
(a) Kunal (b) Samprati (c) Dashrath (d) Brihadrath
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26. o g fopm @ H 3R SR & fu S S 8

(a) vUa<gEE (b) AWM (c) To=m (d) &
27. YRR TEasar qum i fefeiad ge1sii i HIetshaar @S :

() o fromea (i) Tfmves frevea

(iii) et JSHT (iv) 3T=IH TLHR T TS

(@ (i), (iii), (iv), (i) (b) (i), (i), (iii), (iv)

(c) (i), (ii), (iv), (i) (d) (i), (iid), (i), (iv)
28. ST <1 YA ford <31 <hl shifd § TrafRd @ ?

(@) (b) 4 (c) st (d) S
29. ois H TR shifa’ 3rean TiaHh shif foha ad g8 ¢

(a) 1656 (b) 1678 (c) 1688 d) 1698
30. fr=AfoRad § @ forae sectt & wehieu § anreF =&t fea ?

(a) W@ (b) AT (c) afs (d) =
31, Qo9 au kI gy frm e @ g 7

(a) % (b) ST (c) ®F (d) 3ZeAot
32. W fava gg < wveETq i~ TFE fohd T W g3 o ¢

(a) (b) ufE (c) Temmm (d) <A
33. arete @ g fera ad gam ¢

(a) 1804 (b) 1807 (c) 1813 (d) 1815
34, ifetag A 9d W) forg ¥ 3AmsRAr foma ¢

(a) 1398 (b) 1756 (c) 1739 d) 1761
35. foafafgd § 9 H TehralauueTe’ & W O JE1 ST 8 ?

(a) I (b) W (© wZ@HEE (4 HHEW
36. TIIGHIYA ITAehUT fohd a9 & Trafera o ?

(a) HTqaTEd (b) = (c) UER (d) TR ufaER
37. Treferfga § & o o gm gafea 1@ 8 2

(a) I gwifed — ghmo (b) SEWG AfTeRE — FgemH

(c) i 3rfirerg — qerhfym fdfi (d) el 3rfierE — 31T

38. oruehl geuim shteh TSATHA [T A ST ST <hl TATOHT < 7
(a) FUTA (b) &wHhd (c) WY (d) weEsY
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39. Which of the following pairs is correctly matched ?
(a) First Battle of Tarain — 1192 A.D, (b)  Second Battle of Panipat — 1576 A.D.
(c) Battle of Chandawar — 1194 A.D. (d) Timur’s Invasion on India — 1378 A.D.

40. ‘Fezenda’ is known as :
(a) Fields of Sugarcane (b) Fields of Cotton
(c) Coftee Plantation (d)  Fruit Gardens

41. Darlingisa:
(a) Canal (b) City (c) Lake (d) River

42. Which one of the following is a characteristic of Tropical Rainforests ?
(a) Rainfall in summer season (b) Rainfall throughout the year
(c) Rainfall in winter season only (d) A definite wet and dry season

43. The longest river of China is :
(a) Yangtze (Yang Tse Kiang) (b) Hwang Ho
(c) WeiHo (d) SiKiang

44. Which one of the following countries is called, “Land of Thunderbolt” ?
(a) Nepal (b) Sri Lanka (c) Bangladesh (d) Bhutan

45. The far-northern island of Japan is :
(a) Kyushu (b) Shikoku
(c) Hokkaido (Hokaido) (d) Honshu

46. The cause of wind to deflect towards left in Southern hemisphere is —
(a) Atmospheric Pressure (b) Rotation of the Earth
(c) Temperature (d) Earth’s magnetic field

47. The nearest planet to the earth is :
(a) Venus (b) Mars (c) Mercury (d) Jupiter

48. The highest mountain peak in the world outside Asian Continent is :
(a) Mt Logan (Mount Logan) (b) Mount Elbrus
(c) Mount Aconcagua (d) Mount Kilimanjaro

49. The highest waterfall in the world is :
(a) Victoria fall (b) Angel fall (c) Niagra falls (d) Tugela fall

50. The fishing area of North Sea in Europe is known as :
(a) Danish Bank (b)  Scandenavian Bank
(c) Grand Bank (d) Dogger Bank
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39. freffaad @ s argm gafa s ¢
(a) TUSTHIILTIG— 11923, (b) TIa 1 fgdta g — 1576 .
(c) TR HIIG— 1194%. (d) O T YA T TRV — 1378 5.

40. HIAUST THT T &
(@ T=HHWI (b) HIEHE (c) HEAHETNHE  (d) el b 3TN

41. =i

(a) Teh & (b) THTR (c) Uk il (d) THAQ
42. Tefafad 1§ 9 #F ff swrefeaiiy aui a1 ) fogwar 2 »

(a) IfeHehter § T (b) HTEAW T

(c) haot 3fdehrer § asi (d) w Fafvea g 9 5 e
43. <H < 999 R ¢ 2

(a) AT (FTT-H-FATT) (b) TAETE

(c) = (d) Frem
44, Tr=faiad o @ fre e o1 AvE HT% YUEETee HET IR ?

(a) UTA (b) sfierent (c) AT (d) WEE
45. ST 1 gGI-3IT g &

(@) R (b) farprg (c) ErEHs! (d) &
46. cfeaoft TieiTg ® oy o Sff 37 gea 1 HHU ]

(a) AU el (b) I T

(c) dUEHE (d) g 1 R &
47. g H1 Fehean U 7

(@) T (b) WA (c) du (d) eEfd

48. TR HETEY @ aTeR fove O gete vddiieE 8
(a) TREATH (b) WISV Tosd (c) TR Uhl=hIal (d) HIRUE fohfera—amt

49. fova W wat= STetyamE &
(a) forwreifen yura (b) U~ yOTd
(c) AT (SFTT) YO (d) e JuTa

50. IJ09 § I AR T TEARIS &F THT S 8
(a) sfafem (b)) whveafemm feame) e e (d) SR femT
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51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

Sambhar Lake is located in :
(a) Rajasthan (b) Gujarat
(c) Jammu and Kashmir (d) Madhya Pradesh

Gandhi Sagar Dam is a part of :
(a) Kosi Project (b) Damodar Valley Project
(c) Chambal Project (d) Bhakra-Nangal Dam

Which one of the following is most fertile soil ?
(a) Laterite soil (b) Alluvial soil (¢) Redsoil (d) Sandy loam soil

The smallest union territory of India in terms of area is :
(a) Puducherry (b) Daman and Diu
(c) Dadra and Nagar Haveli (d) Lakshadweep

India’s first ‘Bullet Train Project’ is under construction in between :
(a@) Mumbai and Ahmedabad (Sabarmati) (b) Mumbai and Pune
(c) Mumbai and Nagpur (d) Delhi and Kolkata

Which one of the following is oldest mountain range in India ?
(a) Satpura (b) Vindhyanchal (c¢) Aravali (d) Garo and Khasi

Which one of the following is not an oil refinery (Petroleum) ?
(a) Jamnagar (b) Jamshedpur (c) Digboi (d) Barauni

According to 2011 census, the population density of India is :
(a) 410 (b) 325 (c) 432 (d) 382

Keymore in Madhya Pradesh is famous for :

(a) Cement industry (b) Paper industry

(¢) Aluminium industry (d) Automobile industry

‘Saputara’ hill station lies in

(a) Jharkhand (b) Maharashtra (¢) Gujarat (d) Madhya Pradesh
‘Bandipur tiger reserve’ lies in

(a) Jammu and Kashmir (b) Karnataka

(c) Madhya Pradesh (d) Uttar Pradesh
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51. @ sie R g

(a) TEAH (b) T (c) THINHHR (d) TS TW
52. Tiieft OvR Sty freE @

(a) IS TIESHT 1 (b)  eEIE =T GRESHT

(c) T YIS (d) YTESI-ANT Sie

53, Tmferiad § @ 9 o fird wed 31 SuTS R 7
(a) et (b)) Sele g (c) e gt (d) s ame gt

54. & i MY W WA 1 T8 BT ha3MAd UsT &
() Tl (b) THUTE d
(c) TIEU 3R TR galett (d) &g

55. WA 1 Tt ‘Goie o aREieHT fmtoefia 2
(a) PSS TEHCISIE (ATl el (b) q=iE o g0 o el

(c) Y AT & & (d) feoett 9 wHorehar o &=
56. 9Ra # frAferfad § & & o wrhae ved Saen g ?

(a) Hagel (b) Toreame (c) Iaedt (d) TR 3R @
57. Traffaa @ @ ol @ 9o (Yiforam) meAmTen TEi 8 7

(a) IR (b) STV (c) Teomeg (d) s
58. 2011 I UM o HTAR WA 1 SHEEAT T &

(a) 410 (b) 325 (c) 432 (d) 382
59. HEY Y H Y (HHAR) ATHH TIH g & :

(a) Hi= 3Em o fore (b) TS I o foTw

(c) Uegfafem 3T = forg (d) HeET-TTE 3T & fetw
60. TTYART g Wi woret fedra 8

(a) FR@SH (b)) WERIMH (c) TSN H (d) "AAIH
61. ST sTar—wefar & feua B

(a) TR o H (b) HARHH

(c) wemgewH (d) IRICHH
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62.

63.

64.

6S.

66.

67.

68.

69.

70.

The Government of India Act, 1935 was largely based on

(a) The recommendations of the Nehru Committee Report
(b) The recommendations of the Simon Commission

(c) The deliberations of the Three Round Table Conferences
(d) Both (b) and (¢)

Which charter was called as germ, out of which subsequent Anglo-Indian Codes were
developed ?

(a) Charter of 1600 (b)  Charter of 1609
(c) Charter of 1639 (d) Charter of 1666

In which of the following year Madras Agency was raised to the status of Presidency ?
(a) In1639 (b) In 1665 (c) In 1686 (d) In 1687

The first Mayer’s Court in India was established in year 1687 at :
(a) Calcutta (b) Madras (c) Bombay (d) Patna

Which of the following laws provided that Indians should not be barred from holding jobs
with the East India Company ?

(a) Pitt’s India Act, 1784 (b) Regulating Act, 1733
(c) Charter Act, 1833 (d) India Act, 1858

A federal structure for India distributing legislative powers between centre and provinces
was first introduced by :

(a) The Government of India Act, 1915 (b) The Government of India Act, 1919
(c) The Government of India Act, 1935 (d) The Independence of India Act, 1947

The system of separate electorates was introduced in India by the Act of :
(@) Actof1813 (b) Actof1835 (c) Actof1885 (d) Actof 1909

The declared purpose of the Wavell Plan of 1945 was :

(a) To give dominion status to India

(b) To give a Federal structure to India

(c) To give representation to all major communities in India
(d) None of these

A proclamation was issued on August 1, 1672 which fully abolished the :
(a) English laws (b) Hindu laws
(c) Muslim laws (d) Portuguese laws

SereeA RAG



62. A LRI JTAITEH, 1935 THE: AL o -
(a) g& Titrfa 6 furd 6 71 sz w
(b) ET3HA HHITME hl ST T
(c) < TTieTas aeel o foram-fermsf w
(d) ST (b) qUT (c) GHI

63. forg =Tet 1 T i) a1 wTar 8, es gwadedt avt ter-sfee afgand fasfa 53 2

(a) T 3ATH 1600 h (b) =T 3AT® 1609
(c) T 3ATH 1639 (d) =T AT® 1666 Pl
64. TrferRaa o o form o o wgm woieht 1 Ui 1 o feam mm o 7
(a) 1639% (b) 1665% (c) 1686H (d) 1687%

65. WA H Y| HIR <RI hi TATHAT a8 1687 § g8 off
(a) HAHAH (b)) UEETH (c) wEsH (d) UeTH

66. T © ford s w1 TTaaT o1 foh W bl $%< 3 Shaft o 3T=wia Akl 9 Tfaated
T T =R ?
(a) Tue 1 vma stfufrm, 1784 &1 (b) TIATET THR, 1733 HI

(c) =TT, 1833 T (d) wRa rferfm, 1858 &1
67. A  foTU ez qenm W=l o A& faemf st st faurfor s aren i ef=n gaued 38
B 3feRd foharm T o
(a) WA TR rfafEm, 1915 (b) WA GLhR 3rfearfrm, 1919
(c) WRd TR rfaf=m, 1935 (d) WRA = TEaaan AT, 1947
68. T faiweh HUSe i ST I YRA H ToH SR AR] fehart 7/ o1
(a) 99 1813 o AtufEm = g (b) a9 1835 o fufaw s g
(c) o 1885 % rferfram & g (d) a9 1909 o JrtafEm & gr

69. T 1945 I I AT T BV I o7 -
(a) WRA ! AT (Sifufrer) 1 gatt ¢
(b) YR ! Ueh HEIT ST TGH HEAT
(c) WA % ¥l yq@ wHerEt i wfafifue e

(d) 37 @ S T

70. 1 3TTE, 1672 1 =0T A quidaT @ed L e o
(a) SfioTer ferferai =i (b) Teg fafemti =
(c) Hfeem fafermi = (d) g ferferri =t
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

Mughal Emperor Shah Alam has granted the Diwani of Bengal, Bihar and Orissa to East

India Company in exchange of yearly regular payment of Rupees

(@) Inl0Lacs (b) In20 Lacs (c) In26 Lacs (d) In30 Lacs
Which Judicial Plan of Lord Cornwallis established a Court of Circuit ?

(a) By Judicial Plan of 1787 (b) By Judicial Plan of 1790

(c) By Judicial Plan of 1793 (d) By Judicial Plan of 1794

First Law Commission of India was constituted under Charter of :
(a) 1726 (b) 1813 (c) 1833 (d) 1853

The High Courts of Judicature initially established in India were located at
(a) In Madras, Calcutta and Allahabad (b) In Bombay, Madras and Patna
(c) In Madras, Bombay and Calcutta (d) In Bombay, Madras and Delhi

Who was the Chairman of First Law Commission of India ?

(a) C.H. Cameron (b) T.B. Macaulay

(c) G.W. Anderson (d) F.Millet

Under which Act, Second Law Commission of India was appointed ?
(a) By the Actof 1833 (b) By the Act of 1838
(c) Bythe Act of 1840 (d) Bythe Actof 1853

The Constituent Assembly for framing the Constitution for Independent India was set up in :

(a) In 1945 (b) In 1947 (¢) In1949 (d) In 1946

Which of the following Commission recommended abolition of Dyarchy System in

Provinces ?
(a) By the Cripp’s Commission (b) By the Simon Commission
(c) By the Cabinet Commission (d) By the Nehru Report

What is the meaning of the Latin phrase “Audi Alteram Partem” ?
(a) No one shall be Judge in his own cause

(b) Both sides should be heard before a decision is arrived at
(c) Rights are associated with duties

(d) None of these

The word “malafide” means :

(a) Erroneous (b) Good faith (c) Bad faith (d) Intention
The term “Ipso Facto” means :

(a) Inplace of (b) By reason of itself

(c) By the same source (d) None of these

The Constitution of India was amended for the first time in :
(a) 1950 (b) 1951 (c) 1952 (d) 1953




71. TS SICIITE 38 ST + ST, fogR 37 IS 1 Siart S1ireh $we sfream hrat i
e et 592 o set § feam o

(@ 10ad@d (b)) 20@@H (c) 26m@H (d) 30am@H
72. QS HHaTH i ferd =TRreh TS o J=HTd I ATh Tiche LT <hY Tt off ?

(a) TR AT 1787 W (b) TR JASHT 1790

(c) TR ST 1793 ° (d) =ITRrek AT 1794 |
73. A 1 YoM fafer s nfsd gam o1 =t 6 g1

(a) 1726% (b) 1813 % (c) 1833% (d) 1853
74, IMTH, YR H L1iud fomd T 3= <o foua 9

(a) W, TheTehdl Ud SATETEE | (b) TS, TEE TS AT H

(c) g™, SIg TS shetshall | (d) ==, wgE ve foeeft &

75. R 9o faftr ST 1 et ik o ?
(a) .= FWHE (b) & bt (c) .3y, WSTEH (d) UW. firceie

76. 9 o1 fgeta fafer s fepa stferfaem < qga e foba o 2

(a) farfm, 1833 Fgm (b) ferfrm, 1838 % g
(c) Afaf=m, 1840 % g (d) 3rfufem, 1853 % g
77. TEAA R o GGG 1 THHI0 i gg Sfage e g aisa g8 of
(a) 1945% (b) 1947% (c) 1949% (d) 1946

78. Tr=fciRea § 9 form siem 3wt 1 it e Ul ol THT e o fore fawrier <6y oft 2
(a) Tr EMA (b) EEE IR (¢) hisde A™IMA  (d) & Ee A

79.  “3TTEl TSt YREH” A STeRist ol o1 31 8 ?
(a) 37O ITG H TS T =AAE TE N 1 (b) R ue T ot A |
(c) RSN Sdedl & T af=fEd 2 | (d) T T BIE -

80. e ‘HIT ®Ise 1 3 @

(a) T (b) TE (c) gwlE (d) I
81. TRITST “3ET Bkl T L B

(a) HTIAWR (b) TIHE &

(c) T &l &I % YT T (d) A BIE -
82. YA 1 GG T Gy Gener feram mam en

(a) 1950 (b) 1951 (c) 19527 (d) 1953%
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83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

‘Habeas Corpus’ literally means :
(a) Produce the body (b)  Produce the record
(c) Produce the evidence (d)  Produce the testimony

‘Sustainable Development’ is a concept of :
(a) Environmental Law (b) Property Law
(c) Tax Law (d) Criminal Law

“Rule of Law” means :

(a) All persons are equal in the eye of law.
(b) Treating all unequally as equals.

(c) Protective discrimination

(d) None of these

An act of unauthorized entering into another’s property is called :
(a) Damage of property (b) Trespass
(c) Trover (d) None of these

To enforce the Fundamental Rights the Court issues :
(a) writ (b) decree (c) ordinance (d) None of these

Fundamental Rights are contained in which part of the Constitution of India ?
(@) InPartll (b) InPartIII (¢) InPartlV (d) InPartV

National Law Day is observed every year on :
(a) March, 01 (b) April, 30 (c) June, 16 (d) November, 26

Child Labour (Prohibition and Regulation) Act, was enacted in :
(a) In 1986 (b) In 1987 (c) In1988 (d) 1In 1989

The disobedience of any Judgement, Order, etc. of a Court amounts to :
(a) Perjury (b) Contempt of Court
(c) Offence (d) None of these

The “Devidhura fair” at Varahi Temple is held on the eve of :
(a) Rakshabandhan (b) Igas-bagwal
(c) Makar-Sankranti (d) Deepawali

e ——r- I — v



83. ‘Bfusmg wigy’ w1 wfeces 312 3

(a) AT o TIRR T BT | (b) 3TNICTE I T BT |

(c) TTEA ol T BT | (d) TTETER ! T T |
84. “Tad fash@” HeheuT @ -

(a) TR forfer <61 (b) @t faftr oy

(c) e fafersh d) erfves faf <

85. “fafer =1 omem” o1 374 &
(a) Tafer = omer aeft safe g €
(b) Tt 3EUT % 1Y THH FIER TR AT |
(c) TReTeHsh favg

(d) T ARETE
86. Terel gEX saferd 1 Hufel § STTIRIA Yolst AT EelTdl 8
(a) THITT ol &ffd e (b) fER
(c) HUTEIdH o foru Hrfems (d) T F B T
87. T ATURI Sl AR T o foTu =mermer™ gra ffa femam Strem 2
(a) TFerhT (b) feh
(c) IreATeH (d) T A RIS T
88. W HiagT % fohg W 1 W&t 1fUshRi 1 foewur @ 7
(a) WTTIH (b) W LA (c) WMIVH (d) wmvdH

89. U fafy feaw I ad wmn e @
(a) WM, 01 (b) 3T, 30 (c) <, 163 (d) TR, 26 1

90. o1t o\ (Fme 3t fafaem) srffm stfufafig fomam mam e

(a) 19867 (b) 1987 (c) 19884 (d) 1989
91. fortlt =maTera % fvla, strew 3nfe i 3t Feerar 8

(a) HIITETEl (b) AT h! AT

(c) U™ (d) A HETE
92, TRIEI AfeX § &M ITell “SEe Uefl’ o @

(a) T&TEEA & T (b) FTH-TEA b fq

(c) TehTHshI=d o fea (d) Ereet & fea

liAb ’ 17 Series-A




93.

94.

9s.

96.

97.

98.

99.

100.

101.

102.

Veer Chandra Singh Garhwali is famous for ‘Peshawar Kand’. This kand occurred in
which year ?
(a) 1932 (b) 1930 (c) 1919 (d) 1942

The average size of land-holding (in hectares) in Uttarakhand is
(a) 0.69 (b) 0.79 (c) 099 (d) 0.89

According to Census of India 2011 which of the following districts of Uttarakhand have
negative population growth ?

(a) Almora and Nainital (b) Garhwal and Rudraprayag

(c) Garhwal and Almora (d) Almora and Bageshwar

The eighth Nagar Nigam (Municipal Corporation) declared in Uttarakhand State is :
(a) Rishikesh (b) Kotdwar (c) Rudrapur (d) Srinagar

The ‘Gazetteer of British Garhwal’ was authored by :
(a) H.G.Walton (b) E. Atkinson (c) T.Moorcraft (d) William Frazer

Ramnagar Legislative Constituency is a part of :

(a) Udhamsingh Nagar Parliamentary Constituency
(b) Nainital Parliamentary Constituency

(c) Garhwal Parliamentary Constituency

(d) Almora Parliamentary Constituency

The easternmost district of Uttarakhand State is :

(a) Champawat (b) Nainital

(c) Udhamsingh Nagar (d) Pithoragarh

‘Sar System’ in Uttarakhand is associated with :

(a) Mix farming (b) Irrigation system

(c) Crop-Rotation system (d) Plantation agriculture

The Gorkhas (Gurkhas) had captured Kumaon in :

(a) 1803 (b) 1894 (c) 1796 (d) 1790

Match the following and select the correct answers from given codes :
Glacier River

A. Satopanth 1 Mandakini

B. Milam 2. Gauri Ganga

C. Kbhatling 3. Alaknanda

D.  Chorabari 4 Bhilangna

Codes :
A B C D

(a) 1 4 3 2

(b) 4 3 2 1

(c) 3 2 4 1

(d 1 2 3 4
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93, R == g TeaTeh WHg & — UNIeR hive’ W U | 9g whve fohd 9 mfed gam ¢

(@) 1932 (b) 1930 (¢) 1919 d) 1942
94, ITARGUS H ITTEA SIId hT TR (FFALH) B
(@) 0.69 (b) 0.79 (c) 0.99 (d) 0.89

95, 9TA ! SUMT 2011 % STTHR ITEUS o Tohd AT H FhRIcHS (UM ) SHHET Jig
@Wa?

(a) STHISI Td Fftara (b) TTEATA AUT EEIATT
(c) TTEaTet qAT FeHIST (d)  STCHIST qAT TR
96. ITARIUS U <kl TINT 3TT3aT TR s 2
(a) Hiueh (b) IR (c) ¥TWL (d) SR

97. ‘faifes Teamel &1 TR & & wi@e o
(a) TIASH. ded (b) 3. Tefhed (c) 3. qGRTR (d) Taferm s

98. THTR farem @ &= 9 8
(a) SUHHE TR GO & 1 (b) AT THE & T
(c) TIEaTe TECIT & (d) ITCHIST HECH &3 h

99. ITEUS T 1 gL T G 2
(a) THTEd (b) Far (c) SumEgam  (d) T

100. 3ITEUS § ‘GR Ugfa qrafvd 8
(a) TaB@sNH (b) TE=Euglad
(c) HEA-=sh YUITeAl (d) =TT HYE

101, 7@ - HAR W SRR foham o -
(a) 1803 (b) 1894 () 1796 (d) 1790

102. Fr=ferfaa w1 gafaa Hife qen fodr ™ %2l & @ w9 sm g :
fewe (femm) Q

FATY 1. HecTfeRH]
Hem 2. T

TaferT 3. AR
EINEI 4 IEEUCH

S 0wy

(a)
(b)
(c)
(d)
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103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

Match the following and select the correct answer from given codes :
Industry Location

A.  Century Pulp and Paper Mill 1 Lalkuan
B.  Bharat Heavy Electrical Ltd. 2. Ranipur
C. Hindustan Machine Tools 3. Ranibagh
D. Bharat Electronics Ltd. 4 Kotdwar
Codes :

A B C D
(a) 4 3 2 1
(b) 3 4 1 2
(c) 2 1 4 3
(d 1 2 3 4
‘Survey of India’ at Dehradun was established in the year :
(a) 1767 (b) 1802 (c) 1788 (d) 1796
The unirrigated fertile land is called in Uttarakhand :

(a) Upraon Abbal (b) Upraon Doyam (c) Talaon Abbal (d) Talaon Doyam

How many districts are contiguous to international boundary in Uttarakhand state ?
(a) 3 (b) 4 (¢ 5 (d 6

Which climatic conditions are present (found) in Kotdwar-Ramnagar-Tanakpur belt in
Uttarakhand ?
(a) Tropical wet (b) Sub-Tropical (¢c) Warm Temperate(d) Temperate

Among the following the correct ascending order of the districts in Uttarakhand, in terms
of area is :

(a) Bageshwar — Rudraprayag — Champawat

(b) Rudraprayag — Champawat — Bageshwar

(c) Champawat — Bageshwar — Rudraprayag

(d) Champawat — Rudraprayag — Bageshwar

Which officer was given the contract of cutting the forests by Tehri riyasat-king Bhawani
Shah ?

(a) Wilson (b) Nicholson (c) Batton (d) Fraizer

The capital of Katyuri emperors (Nareshas) was at :

(a) Brahmpur (b) Jageshwar (c) Kartikeyapur (d) Gobishan

The Tehri Kingdom (State) was merged in Indian Union in the year :

(a) 1950 (b) 1946 (c) 1948 (d) 1949

The fault (thrust) line between lesser Himalaya and Shiwalik Range is :

(a) Main Central Thrust (b) Himalayan Frontal Thrust

(c) Main Boundry Fault (Thrust) (d) Tethyan (Tethes) Fault
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103. FrferRaa =1 gafera i qen fed m %2 & 8 w8t s g :

e Frafefd
A TO T WS TR AR () 1. cerpal
B. W gell seiferzshedt el 2. TR
C. fegwm mefiH go| 3. e
D. WRd SoigIead fa. 4. wlegR
@:
A B C D
@ 4 3 2 1
® 3 4 1 2
¢ 2 1 4 3
@ 1 2 3 4

104. BTG H Hel 3% 30T (WA Heigor forwmT) o6 o g8 oft
(a a91767H  (b) &N 1802%H (c) a¥1788% (d) 917967

105, STRREUE H e 3usire: yft et 2 :

(a) SIS IEA (b) IS qREH (c) TS IEA  (d) dellS Q|
106. TGS TS & fehe Toreti shl TaT STl S & firerdi 2 2

(@) 3 (b) 4 () 5 (d) 6
107. ITTEUE H HIEgR-THTR-2ThYL Ul (TET) | I Ht Serary gy foame g 2

(a) FoTg (b) IS (c) T Sfirsor (d) Sfirs
108. FfcTRad o ¥ &%hd  TIR ITUGUE H SHUGH 1 Hal STRa! 37 ©

(a) SFIYSR-BZIRATT - HTed (b)  BEIANT-T A~ SHIIR

(c) TTEd-STIYeR~FgIaTT (d) T -BEIANT- ST’
109. foadt famea T Yo T8 g0 Sl o e ohl SehT fohd AT =i e mam ot ?

(a) faemm (b) T (c) e (d) R

110, e ST (M) <6t Tore off
(a) SERH (b) ST H (c) hIfciopaqT T (d) TfersToT H

111. feet T (T=) w1 adm sa 0 e wra¥ 8
(@) 1950 (b) 1946 (c) 1948 (d) 1949

112. &g feurer = fRranferes 2oft & ae feom o W@ g
(a) T HSF U (b) TeAeRi smyw () gaadmyw  (d) ofis w
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113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

Who was the first king of ‘Chand dynasty’ of Kumaon ?
(a) Kalyan Chand(b) Som Chand (c) ApoorvaChand (d) Veer Chand

Who was the founder of Panwar (Parmar) dynasty in Garhwal ?

(a) Som Pal (b) Ajay Pal (c) Kanak Pal (d) Jagat Pal
According to Census of India, 2011, the population density of Uttarakhand State was :
(a) 189 (b) 181 (¢) 173 (d) 194

Jhiroli in Almora district is famous for :

(a) Copper mining (b) Magnesite mining

(c) Gypsum mining (d) Graphite mining

The oldest known race of Uttarakhand is :

(a) Kirat (b) Tangan (c) Bhotia (d) Kol

The nominated member of Uttarakhand assembly belongs to :

(a) Christian Community (b) Muslim Community

(c) Anglo-Indian Community (d) Tribal Community

When was the Uttar Pradesh Reorganization bill presented in Lok Sabha ?

(a)  1° August, 2000 (b) 5™ August, 2000

(c) 16™ August, 2000 (d) 30™ August, 2000

Who was the Prime Minister of India at the time of declaration of Uttarakhand State ?
(a) H.D. Devegowda (b) Atal Bihari Vajpayee

(c) Chandrashekhar (d) Rajiv Gandhi

In which one of the following district of Uttarakhand the ‘Beej Bachao Andolan’ was
started ?
(a) Almora (b) Pauri Garhwal (c) Pithoragarh (d) Tehri-Garhwal

Who said, “Indian Constitution is a lawyers paradise” ?
(a) IverJennings (b) Harold Laski (¢) G. Austin (d) D.D.Basu

Who was the Chairman of ‘Fundamental rights sub-committee’ of Constituent Assembly ?
(a) K.M. Munshi (b) Sardar Patel (c) Rajendra Prasad (d) J.B. Kripalani

Who suggested for the Directive Principles of State Policy to be included in the
Constitution ?
(a) B.N.Rau (b) K.M.Munshi (c) Sarojini Naidu (d) B.R. Ambedkar

Who was the first Chief Election Commissioner of India ?
(@) S.P.Sen Verma (b)  Sukumar Sen
(c) R.K. Trivedi (d) T.N. Seshan
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113. HURY H == 31 1 TUH ITHh i o7 7
(@) HAWEE (b)) HHIG (c) 3gd =< d) dee

114. TG § YaR (YTAR) 37 <hT TEATIh i AT 7
(a) M UTA (b) 3 UTA (c) T T (d) STd U

115, F% 2011 3 AR FTTVHTIER ITUGUE T I SHTEIT T o1

(a) 189 (b) 181 ) 173 (d) 194
116. 3Tedrer S9e § ferieh ufrg 2

(a) dfeT @ % fau (b) FHETEE @ g

(¢) Yol (frem) @+ & fore (d) UHZE G & feTw
117. TGS i Falfees Y= Frd S (F5) 2

(a) Terta (b) TaFW (c) ofeam (d)
118. IAUEUE faere T1 o foTT Aia Hew Trafrd gidn 8

(a) TS WHSHE & (b) Hftew wgeE &

(c) Urell-gfugs aqe™ | (d) ST gYEE §

119. TR IS TS fIerres ofish 991 | el T&T 7T 7
(a) 137, 2000 (b) 53R, 2000 (c) 16 37, 2000 (d) 30 W, 2000

120. IAUEUE T <61 AU & GHY YR & JUHTH Hi & 7

(a) TS aieT (b) 31ee forgrl arrusht
(c) =RIE (d) TS e
121. F=faRad & @ Iqu@ve & fohd S O ‘i SISt STTaie shi ST 88 ot 7
(a) 3FeHTET (b) WETeEE  (c) TuINTTE (d) feat-meamat

122. forEa et fop, “9rdia Gfaam gt & e @ 87 ¢
(a) SARRINE (b) Bles AR=h (c) it 3rifees @ g

123. Gfqem g 6t ‘Hifeteh FATeepR IuAfHla’ & T D & ?
(a) H.UA.GIM  (b) WER A (c) TSI JETg (d) .. FoaE

124. TS o Hif Freemes fagrt i Gfaam § wfiet st o1 gend fohe feam o 7
(a) STI.TE (b)) .U GIM (c) TWNFTRE  (d) 1.3TR. 3w

125. WA o 9¥H &I AT SR i 9 ?
(a) wa.d. eIl (b) FFIREA () INH. B (@) AW
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126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

The P.M.O. was given the status of a department in which year ?
(a) 1960 (b) 1961 (c) 1962 (d) 1963

Uniform Civil Code is referred under which Article of Indian Constitution ?
(a) Article 41 (b) Article 42 (c) Article 43 (d) Article 44

The provision of Judicial Review is given under which Article of Indian Constitution ?

(a) Article 10 (b) Article 11 (c) Article 12 (d) Article 13
The provision of ‘Gram Sabha’ is made under which Article of the Constitution ?
(a) Article 243 (b) (b) Article 243 (c)

(c) Article 243 (d) (d) Article 243 (e)

The time between Question hour and start of proceedings of the house of Parliament is
called what ?
(a) Motion hour (b) Zero hour (c) Private bill hour (d) Legislative hour

The Supreme Court takes up the cases of inter-state water disputes under which Article of
the Indian Constitution ?

(a) Article261 (b) Article 262 (c) Article 263 (d) Article 264

Lok Adalats were given legal status by which Constitutional Amendment ?
(a) 43 Amendment (b) 44™ Amendment
(c) 45" Amendment (d) 46™ Amendment

Under which Article of the Constitution the Governor has a right to be informed by the
State Cabinet of its decisions ?
(a) Article166 (b) Article 167 (c) Article 168 (d) Article 169

The Inter-State Council was set up in 1990 on the recommendation of which Commission ?
(a) First Administrative Reform Commission

(b) Planning Commission

(c) Sarkaria Commission

(d) Law Commission

Which of the following rights, the foreigners are entitled under the Indian Constitution ?
(a) Right against exploitation (b) Right to equality before law
(c) Right to life and personal liberty (d) All the above rights

According to the Constitution the upper house of the State legislature can be created or
abolished by whom ?

(a) Governor of State (b) President of India

(c) State Legislative Assembly (d) Parliament of India
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126. TUHHT T =t forvm o1 et for o & femm o 2
(a) 1960 (b) 1961 (c) 19627# (d) 1963 %

127. FHM RTHE TfEd 1 oot TfIe o fohd 31<a¢ o ST=id AT TR 8 7
(a) 3T=De-41 (b)) IWL-42 (o) IIWE-43 (d) ITTese-44

128. YR Afqer = fora 3= & 3Tt =NRres YT 1 Jraem feam mn @ 7
(a) IIWE-10 (b) IIWE-11  (¢) IFWe-12 () 3Fe-13

129. 70 YT’ 61 IGHH G & fohd 3T=sg o F=aid R T g ?

(a) 3TT=Be-243(sfh) (b) STITSE-243(H)
(c) FATeBe-243(3) (d) 3T=BE-243(3)
130. 3Tl 9 HEE o T i HRIATE! T B o S o THY ] T had & 7
() YHE®HE (b)) IR (c) Tfedassm (d) faumh s

131. Har= <R =S o1 -foare o ammel st gaaTs TR afaum < fha s1esg &
FA=Td BT ] ?

(a) FIEDe-261 (b) IFIEDe-262 (¢) ITWE-263  (d) ITHe-264

132. Wk ATl o1 feh® HauTies e g defes g1=rar & 8 7
(a) 43dTMe  (b) 44d GMEA (c) 459 TEned (d) 469 GIMYA

133. dfqa™ o fohd Tg=8e o Twamid TSIUTA i TST Af=HSH 9 38 fafuii it g=mm e s
1 AR R ?

(a) ITWe-166 (b) ITWe-167 (c) IFWe-168  (d) Iq=e-169
134, A=A 9ig =t 1990 T foher 3t ot fawricer v wenfya fomam i

(a) VU TRIH T FER AR (b) IS T
(c) TSRTNET AN (d) fafer s
135. F= o & o 9 rfeeer faefym & fou wdim dfsam A ygm fra ma 8 2
(a) ST o faeg 3rferepR (b) I  HHET THAT 1 HTIHR

(c) Sited Ud sAfeaiTd Taasdl &1 3R (d)  IWiea g+t

136. |fIUM % AR T fIgmmves o 3= Te i i L1 tan fed s aswar g ?
(a) TS S TsFUTA (b) W Tegafd
(c) T faem | (d) W THg
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

Which one of the following articles of the Indian Constitution deals with the impeachment
process against the President of India ?

(a) Article 59 (b) Article 60 (c) Article 61 (d) All of these

Article 280 of the Indian Constitution is related to which subject ?
(a) Election Commission (b) Human Rights Commission

(c) Finance Commission (d) Backward Class Commission

Which one of the following schedules of the Constitution of India contains provisions
regarding Anti-Defection Act ?

(a) Tenth Schedule (b) Eighth Schedule
(c) Fifth Schedule (d) Second Schedule

Who is the custodian of the Consolidated Fund of India ?
(a) Parliament (b) President

(c) Prime Minister (d) Finance Commission

What is the tenure of Estimates Committee ?

(a) 1year (b) 2 years (c) 3 years (d) 5 years

Which one of the following Articles of Indian Constitution deals with the abolition of
titles ?

(a) Article 16 (b) Article 17 (c) Article 18 (d) Article 19

The ‘Golden Triangle’ of the Indian Constitution refers to which of the following
Articles ?

(a) 11,12,13  (b) 16,17, 18 (c) 14,19,21 (d) 18,19,20

Which of the following is a single user Operating System ?
(a) DOS (b) UNIX (c) Windows 10 (d) None of these

Which of the following is a system software ?
(a) Compiler (b) Google (c) MS-Office (d) None of these

Software which allows you to view the Webpage is called :
(a) MS-Office (b) WebBrowser (c) JAVA (d) Windows
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137. 9§ | IR |99 1 s 91 STTos¢ WA o Tsgdfd I T S aTel HaTwR Sk |
TEfRE e ?

(a) 3FToBE-59 (b)  3TT=BE-60

(c) 3AT®e-61 (d) I aeft Sese
138. YR Tfqe 1 3r=ae-280 foha fova @ wrafRa @ 7

(a) Tratem 3w (b) TS HARIHR AR

(c) e mIm d) forser et s

139. T o Wi wfeam o i H g got-sget foliy A & grauHi @ wefid 8 7
(a) cEel IgEE (b) ISl IR (o) Wil IEEEl () e srgEEh

140. WRa ! d@faa il w1 @ s 2 7
(a) WES (b) Tseufd (c) SamEA (d) T s/m

141. 39 |fufa 1 HriwT fohd g g ?
() 19§ (b) 29§ (¢c) 3a§ (d) 59§

142. VR G 1 91 37T SUTRRE o ST 8 Trafd & ?
(@) ITWa-16 (b) IFTWa-17 (o) FTWe-18  (d) HTWe-19

143. WA Gfae™ o 7 5 & & STg=se) I W@l s’ Hat g ?
(a) 11,12,13  (b) 16,17, 18 (c) 14,1921 (d) 18,19,20

144, T 8 @ o fomer Ior sfen firem 2 7

(a) =™ (b) Ihed

() TE™-10 (d) 379 9 BIE T
145. fr=1 4 @ o foreed digeam 2 ?

(a) HHTEH (b) T

(c) UHTH-FAHH (d) T H S AR
146. 98 TR ST 3TT9eh! J&UST fe@TdT 8, 39 Had & :

(a) THUE-JAMRH (b) o TSN (c) e d) T

RAO ' 7 ' Series-A



147. Which of the following is known as unauthorized access into other Computer System ?

(a) Hacking (b) Encryption (c) Decryption (d) None of these
148. When a computer is connected to a Network it gets :
(a) LP.address (b) Web address

(c) Mac address (d) Computer address

149. A device that can convert digital signals to analog signals is
(a) aPacket (b) aModem (c) an emulator (d) None of these

150. Which of the following are programming languages ?

1. JAVA

2.  MS-Word

3. MS-Office

4. C++

(@) land2 (b) 2and3 (c) land4 (d 4and3

151. One Giga byte is equal to which of the following ?
(a) 1024 byte (b) 1024 kilo byte (c) 1024 Mega byte (d) None of these

152. Which of the following Computer Memory is Non-volatile ?
(a) ROM (b) RAM (c) Cache (d) None of these

153. Which of the following is used to make the presentation in a Computer system ?
(a) MS-Word (b) MS-Excel (c) MS-PowerPoint (d) MS-Access

154. Which of the following is known as brain of Computer System ?
(a) Control Unit (b) Central Processing Unit
(c) Arithmetic Language Unit (d) Cache Memory Unit

155. Which of the following Computer language is used to develop static web page ?
(a) Photoshop (b) C++ (c) HTML (d) None of these

156. Which of the following denotes the number of nodes in a complete binary tree of level 5 ?
(a) 15 (b) 25 (c) 75 (d) 63
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147. F1 5 & B ga hreget foeen & srfirehd waw & fofe S S 2 7
(a) 2fbm (b) iR
(c) feformm (d) T @ HIE T

148. 9 IS HF deh | IS &, I 98 I il & :
(a) IEH.TGE (b) T (c) HHTH (d) FRITH

149. fearza St fefiieet Hehdl ! T Gehdl § SeoidT & 98 2l

(a) Tk Tehe (b) U HieH

(c) Th IR (d) T ABE T
150. =1 & @ i =t sanfe wmemd § 2

1. ST

2. WUg-9E

3. UHUH-IAMRH

4. Hi++

(a) 172 (b) 273 (c) 1quT4 (d) 473
151. Uk T sge e | @ ferereh s R 7

(a) 1024 913 (b) 1024 fepeti g

(c) 1024 Wi €18 (d) Y HIE T
152, fe1 5 9 1 i FHreget Wi A-aieesa g ¢

(a) TH(ROM) (b) W (RAM)

(c) hw (d) T 8BS T

153. T o @ A et e | YSies - &g S 8T 8 ?
(a) TAGE-IE  (b) TUHUE-TFA  (c) UHUH-UER-UEE(d) UHIH-UHEH

154. T 5 9 i Frge forem & foum & s & ST ST | 7

(a) i e (Free 3ehTs) (b)  Trget ST e

(c) P T e (d) TR e
155. = 4 @ o0 o o Rfees A9 T & foIw R Bt 2

(a) IS (b) E++

(c) TId.wH.TA. (d) THEBIE AR
156. 378 ¥ HIF UiE acT dTct HHAIE SEHI & & I8 HI T ?

(@ 15 (b) 25 () 75 d) 63
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157. Which of the following are multi-user Operating System ?

1. MS-DOS

2. Unix

3. XENIX

4.  Windows-NT

(@) land2 (b) 2and4 (c) land3 (d) None of these

158. Which of the following are Search Engine ?

1.  Google

2. Facebook

3. MS Office

4. Bing

(@) land2 (by 2and3 (c) land4 (d 3and4

159. Which of the following are peripheral devices of computer ?
1.  Plotter

2. Control unit

3. Scanner
4. ALU
(@) land2 (b) land3 (c) 2and3 (d 3and4

160. Which of the following memory has lowest access time ?
(a) Cache (b) Registers (c) Magneticdisk (d) Main Memory

161. Which of the following is not the basic function of the Computer Operating System ?
(a) Memory Management (b)  Input/Output Management

(c) Process Management (d)  Virus Protection

162. Which is the fastest transmission media ?
(a) UTP Cable (b) Fiberoptic cable (c) Co-axial cable (d) Ethernet cable

163. Which of the following is not related to Computer Processor ?
(a) Dual Core (b) 17 (c) Celeron (d) Android
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157. T § @ 1 meder stfan fawen & 7

1. THTHESH

2. g\

3. e

4. fo=_wd

(a) 1dU12 (b) 274

() 1713 (d) T A BETE
158. fd @R ae s 2 ?

1. T

2. HHEH

3. UHUH-3N%Y

4. fam

(a) 14dA12 (b) 27UT3 (c) 1duT4 (d) 3qUT4

159. 1 & 9 i et i e feasd 87

1. R

2. g e

3. ThW

4. UTAY,

(a) 14dA12 (b) 1773 (c) 27uUr3 (d) 3qUm4

160. =1 & @ = =i i 1 T8 7 THRE I A1 7

(a) &I (b) IR c) THR*wfems (1) F=H
161. =1 § | 19 A1 3NURT B HER TR e w17 7 7

(a) fd (W) e (b) e/ IATIEYE Toer

(c) SHsha Sarve (d) aRRE & e

162. = o @ 9 g O G0 HIEIH B 7
(a) I AR (b) HEWAMLH R () HI-TEHIA TR (d) FUHS AR

163. T & & foporept Tvery P TR A TE B 7
(a) TAABX  (b) IS HeH (c) TeRH d) TgEE
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164. Who invented the Telephone ?
(a) Alexander Fleming (b) Fredrick Banting
(c) J.J.R. Macleod (d) Alexander Graham Bell

165. Quality of petrol depends upon :
(a) Cetane number (b) Gold number
(c) Avogadro number (d) Octane number

166. The sugar present in fruits is :
(a) Glucose (b)  Sucrose (c) Fructose (d) Galactose

167. Which element is structural part of haemoglobin of our blood ?
(a) Copper (b) Calcium (c) Iron (d) None of these

168. Diamond and graphite are :
(a) Isomers (b) Isotopes (c) Polymers (d) Allotropes

169. The insulator of electricity is :
(a) Copper (b) Silk (c) Human body (d) Aluminium

170. Two alike magnetic poles
(a) Repel each other (b) Attract each other
(c)  First attract then repel each other (d) Neither attract nor repel

171. Which of the following is a Noble gas ?
(a) Neon (b) Chlorine
(c) Hydrogen Sulphide (d) Ammonia

172. Penicillin is :
(a) Vitamin (b) Hormone (c) Antibiotic (d) Analgesic

173. Where does (in which organ) the urine formation takes place, through the filtration of
blood in human body ?

(a) Pancreas (b) Urinary bladder (c) Kidney (d) Liver

174. ‘Red-Rust’ disease of tea is a/an :
(a) Fungal disease (b) Algal disease
(c) Bacterial disease (d) Viral disease

175. Which of the following is not a mosquito borne disease ?
(a) Filariasis (b) Sleeping sickness
(c) Malaria (d) Dengue fever

SereeA T, v



164. H®BH & TfTshieh HH & 7
(a) 3TcTohol=et FATT (b) WefEs df=dm
(c) S..3R. Bfeee (d) 3Tcihol=et UTeH S

165. Uret Sl Turar frelt et 2
(a) HEATETW (b)) WITEIW  (c) 3IENTG W (d) 3AideT J& T

166. oAl § qrft ST STedt 31k 2

(a) TN (b) G (c) TRl (d) TS
167. THR T&d o SHTAISH § i 91 dw G=-TcH YT 8 7

(a) dism (b) Hicwem (c) 3IH (d) T G P RS
168. W1 A Uhrge &

(a) GHEIE (b) THETH® (c) wga™ (d) IIEd
169. Torga =1 foggauet &

(a) dfaT (b) Wm (c) TME IR (d) Tyt
170. < TN bl g HE |

(a) TH-GEL I iRy (b) TH-GEX I TR

(c) TE Th-GEX I SATHYV TR AfAeh0T (d) a1 STTRYTT 7R A & Hferepor
171. Traferfea o @ & = weh esf | R 7

(a) T=tq (b) FARA (c) TS Gowiss (d)  ImIEn
172. ot 2

(a) faerfim (b) BEN (c) Hfaalfaes (d) TEATH
173. Wia TR & o % B sh1 Tfshan &, 11 o1 fomior shat (e 3 o) gran @ ¢

(a) Ufshamg (=) (b) TEARH

(c) b (Tope) (d) IHd

174. =4 1 ‘Te1-Tehg’ T R
(a) hash U (b) SaTA U (c)  Sftemo] TA (d) forsmop T

175. frafafgad @ s o re S @ QO agi @ 2
(a) AT (b) Eehft feemme (Frar Tm)
(c) W@ (d) ZIFgER
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176.

177.

178.

179.

180.

181.

182.

183.

184.

18S.

186.

187.

188.

Saliva helps in digestion of :
(a) Protein (b) Starch (c) Fibres (d) Fats

Retina in eye contains sensitive cells called :
(@) Rods and Cones (b) Cones and Cortex
(c) Rods (d) Cones and Fovea

Deficiency of which of the following leads to night blindness ?
(@) Vitamin A  (b) Vitamin B (c) Vitamin E (d) Vitamin K

What is the Standard International Unit (SIU) of measurement of light (Illumination) ?

(a) ohm (b) kelvin (c) lux (d) ampere
A battery is used to :

(a) Measure current in a circuit (b) Provide current in a circuit

(c) Limit current in a circuit (d) Prevent current in a circuit

One of the common characteristic of Bryophytes and Pteridophytes is :
(a) Vascular tissues present (b) Thalloid plant body
(c) Embryo formation (d) Haploid plant body

How many times a normal healthy human heart beats, per minute ?

(a) 52 (b) 72 (c) 85 (d 90

Tritium is an isotope of :

(a) Hydrogen (b) Carbon (c) Nitrogen (d) Chlorine
Dryice s :

(a) Solid CO, (b) Solid NH,4 (c) Solid SO, (d) Dry CO, gas
Morphine is a/an :

(a) Terpene (b) Flavonoid (c) Steroid (d) Alkaloid

When was ‘Jal Jeevan Mission’ launched ?
(a) April, 2017 (b) March, 2018 (¢) August,2019  (d) July, 2021

SAMVAD 2.0 program is associated with which of the following ?
(a) Community Health (b) Mental Health
(c) Farmers Health (d) None of these

SAMAGRA SHIKSHA SCHEME 2.0 is associated with which of the following ?
(a) Higher Education (b)  School Education
(c) Secondary Education (d) Technical Education

SemeeA T, I — v



176.

177.

178.

179.

180.

181.

182.

183.

184.

18S.

186.

187.

188.

R o UTeH | UE¥h BT B |

(a) WA (b) wWH (c) ISR (d) @&

3T h1 AT H U GeleTsiier hifITehT hadmd 8 :

(a) USHTIHE (b) HFEIHIH (c) UH (d) = T BT
Frafafaa o @ foraeht i @ et i 2 7

(a) frefmA (b)) fof@B (c) TR E (d) faafimK
TR (TEITH) A9 Y Ao SFaUE 5618 (SIU) TR 7

(a) 3TH (b) Hfcam (c) &9 (d) UFERR
TS T T T BT B

(a) U URUY § 9T 0194 &g (b) Ueh UNUY § 9T JETE B

(c) U UNUY T R ! Eifhd s (d) T 9NUY T 9T T ek
STRIHTSH Ud CNEIBISH | G ol Ueh IHATE 70T &

(a) HaEd g ! JureAfa (b) AT UTCU-HT

(c) Yo fomim (d) RUeilsg qrEq-Hm

YA : Ueh T€ HHd €ed, Uid e forai ) ereshar 2 ?

(a) 52 (b) 72 (c) 85 d) 90
arsfeam wes Tmenfes 2

(a) TIESSH (b) HIEA (c) ESISH (d) AR
I T ]

(a) 3 CO, (b) 3 NH, (c) 3W SO, (d) T CO,TH™
TCHH B Th

(a) <H (b) TIEHIES (c) ¥ss (d) Ucehelige

SEACICERENERCE Rt
(a) 3T, 2017 (b) UM, 2018 (c) 3T, 2019 (d) T, 2021

HaTE 2.0 hrRishy = 1 9 fred gefid g ?
(a) HTHETRI @ (b) HHfYH e
(c) fTeram e (d) T Y HIE T

oy fYren whi 2.0 ffafied # € fored gafaa @ ¢

(a) SERem (b)) Tomemfien () WU fem (d)  deRdTehl e
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Who has won third term as the Prime Minister of Canada on September 20, 2021 ?

(a) Pierre Trudeau (b) Prayuth Chan-Ocha

(c) John Kerry (d) Justin Trudeau

Who has been sworn in as the 17" Chief Minister of Gujarat ?

(a) Mansukh Mandaviya (b) Parshottam Rupala

(c) Bhupendra Patel (d) Vijay Rupani

Who is the Governor of Punjab ?

(a) Kalraj Mishra (b) Bandaru Dattatrey

(c) Banwarilal Purohit (d) Ganeshi Lal

Who has been appointed as the next chief of the Indian Air Force ?

(a) H.S. Arora (b) R.K.S. Bhadauria

(c) Ranjit Singh Dhanoa (d) Vivek Ram Chaudhari
Who has been appointed as Chairman of National Commission for Minorities ?
(a) Sardar Igbal Singh Lalpura (b) Thomas Mathew Perera
(c) Dr. Aziz Hajini (d) None of these

The Border Roads Organisation (BRO) has constructed the world’s highest motorable road
in which State or Union Territory ?

(a) Arunachal Pradesh (b) Sikkim

(c) Ladakh (d) Himachal Pradesh

Name the first ever Naval Exercise between India and Saudi Arabia.

(a) Al-Mohed Al-Hindi — 2021 (b) Zayed Talwar — 2021

(c) Al-Dhafre (d) Al-Arab Al-Hind

Central Government has decided to establish the ‘Indian Institute of Heritage’ at which
place ?

(a) Noida (b) Varanasi (c) Haridwar (d) Rameshwaram
Which Hindi film has been declared the ‘Best Hindi Film’ in 67 National Film Awards ?
(a) Barfi (b) Ram Dhun

(c) Chhichhore (d) Saleem Langde par mat Ro

Which country has launched world’s largest carbon Trading market ?

(a) US.A. (b) China (c) France (d) India

How many languages enjoy the ‘classical’ status in India ?

(a) Ten (b) Eight (c) Six (d) Four

What is Navroz ?

(a) An eminent Piano Player (b) A Parsi new year

(c) A place of worship (d) None of these
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189. 20 foamR, 2021 1 i THH TR HATST T T ST ?
() TRRETET (b)) TWIIE-AE  (¢) T hd (d) S 3T

190. ORI % 179 gt & &9 H fehad smu oft 2 7
(a) WIGE HEAT (b) TEIMH ®ATAT (c) U ued (d) Tos= st

191. USITS o TSI i & ?
(a) S E (b)) WSE AR (c) ar A qUfga(d)  TTorf o

192. WA a1 B 7 a1 Jreet fondt fogera fopam e 2 2

(a) TI.TH. 3R (b) 3. %.TH. WIE

(c) Tursira f&g eiam (d) T Tm Aterdt
193. UEH HAcUHEIeh RN 1 HeTe ol SR TR ?

(a) TICR SHETA g ATAYU (b) oTHH feg T

(c) S 3rsfist BTl (d) A B TE

194, AT <o T (AR F form T=H 31 shegenid Tew | faga 6l g8 =t Aleamy 9
ECICikAK,

(a) IRUTEA ICW (b) TafFwm (c) e (d) Teure yem
195. WRA 3R Tt IR o T 376 Toh oh Tgeil SR gU = TRATH 1 A1H Fa |

(a) IAA-TIEE TA-Ta<i-2021 (b) SR aeER-2021

() IA-GETH (d) 3ITA-30T AA-Ta<
196. <hg TTHR = fohE T W WA forrEd S T s o1 (o feran g 2

(a) ST (b) aRTE (c) BER (d) THITH
197. 674 TP fhen srmagd & fou form fa=<t ftben =1 e fa=d) fpew” =nfta fepen e @ 2

(a) w6 (b) THYA

(c) T®BR (d) TATTRWATU
198. form < 7 faga <1 Ted sl ShreH SfeT ATehe AT AT 8 7

(@) ITET (b) = (c) W@ (d) R
199. 9RA T fereT Wt st U=’ s 9T & 7

(a) <& (b) 31 (c) ©8 (d) =R
200. TS FTE ?

(a) T g forrm areeh (b) T IR qaay

(c) ST I TIH (d) A BE -
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